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B. Sc. B. Ed. (First Semester) Examination, Let
Dec, 3023
m“cs F(x)= -x+c¢ , ifx=l
MATHE (x)= 6— 2 T

Paper : Secbnd (M-1.2) (Elective-III)
Find a value of C so that f(x) is continuous at

(Calculus and Geometry)

Time Allowed : Three hours r=1.
Maximum Marks : 30
' , (b) fag =ifae & @ T sraue 9 wem daa
He ; vOF s @ T ¥9T W sifard &1 aft gt - /(%)
& siw warT &1 x=0 &—
Note : Twe questions from each unit is compulsory. All o 05( x} +1 & x <0
flx)= N
2—3x , 9gl x>0

questions carry equal marks.

Show that the function f(x) given by :

Fh-1
Unit-1 )
1. (@) fog Fifv fr e m smre # v f(x), f(xjt{cus(x)ﬂ , whenx<0
x=1 T W9a ¥— 2-3x , when x>0
L5123 O IS continuous at x ={).
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o Unit-11
2. (a) TG Wifo f wem f:R— R H AfAfE A 3. () iy fafeg o R #aC
State and prove Maclaurin’s theorem.
f(x)— xzfiirl_’%I , x#0 _ gy
0 ‘. x=0 () T T4 A tanxaﬁt(xrg]aﬂmﬁﬁm
T He FEwertd @ ¥, ey Haa W | AT |

Let f:R— R be defined by . . ,
Expand tanx in power of 5 by Taylor’s

o1
f(x)z x? sm? , x=0 theorem.
0 , x=0 argan

Or
[fis differentiable but its derivatives is not continuous.

4. (2) TR VAT Tafaw 9 fag R
(b) fag Fifv f& Fa? y=¢ W T A ¥, WH

State and prove Taylor’s théorém.
FgHeHE TE —

F(x)=|r—6 (b) aeifer v @ log(1+x!) @ wam =i
Show that the function is continuous, but not éxpand lug(l+x2) by Maclaurin’s theorem.
differentiate on y = 6. _

HAIAT

F(x)=|x-6| - Or
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- Find the Asymptotes pf the curve

Unit-111 . , . 2o
Syt =2yt =

®) FF v (3a+x)=x W e Hifae)
2 ™~
I I #if) Trace the curve y?(3a+x)=x".

Find the Asymptotes of the curve
-V,

A 3 ] _
X +4x'y - =29 4243y  +x42=0 Unit-IV

5. (a) 5%

X +4x’y—x’ -2+ 2y +3y" +x+2=0

(b) =% PRI
7. (a) Srdga T+%=l 1 TEOl [AFA I BT

y(a+x)=x*(a-x);a>0

= SEy #Fife) \ Find the whole area of the ellipse
Trace the curve 2 2 _
i+y_= 1
Y (a+x)=x(a-x);a>0 4
Hqaar (b) TF xp* = 4a’(2a—x) ¥ o0 g3 R I
Or PP .
6. (a) T Find the area of curve
X2y =yt -2y by i = ! = 4a’ (2a-x)
# arreaféral s =it 3rear
Or
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8. (8) % ¥ £y |
EES foi 1_)‘1,--.:“.1-'_: F -H.ui:n.i Or

T 6, 0
b A 10. (2) g T R faw g vt a0 Wit Foran ¥

! (0, 0, 0) A MR WF z=k; f(xy)=0 ¥
T4y =Y s 64, ( xk -"k)

sz -

Prove that the equation of the cone, whose vertex

Prove that whole length of the Curve

=0
®) I x4y 2wt i,

Find the area of curve 5? . vi=gl. is (0, 0, 0) and the base curve z=k; f(x, y)=0
EE-V s
Unit-V / [£= i] =0
z' z

9, (a}m%mmmmmﬁﬁmmw,a,s) aeiteer T HiTe fra fec
ﬂmmaﬁxz+y2:4'z=ﬂ 'a'l (b)maﬁ:rqq - o

x—-1 _ _}’+ll_ Z-—
1 2 4

Find the equation of cone whose vertex is (0, 0, 3) 3 & WAL @ 991 Ay

and base curve is circle X413 =4,=0.
X +2y'=0;z=0 ¥

Find the equation of the cylinder, whose generator

2. i
—_E.-?fmﬁ'ﬂnfp%l X . ox—l_y+l z-3
is parrallel to the line . - a

and base

Find the equation of right circular cylinder, whose
, curveis x* +2y*=0;z=0.
Z

X
ax — = — = — : H
15 1S 5°3%% and radius is 5.
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